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Question 1

oL mge gobdobhgds: gemgdhGmbhohogno ggmmo gmegds g9emb,GHmdgmoyy —---

Select one:

a. 96LgdmdlL dogbodn&o obotrol go6>3q3m

b. 56Lgdmalb gemgdheymo gbol go6dgdm

C. 305360@00 30066030 0@0{1@63@0 335@00)
d. 305360@00 3(:’6030 SQ)Sd(béUQ)o 335@00)

Question 2

anobén@{]m 606806@360: 3@3{]06"’[’0000 30 330[}603@0[} ooo3q)ob 0636803@0
bobOgaob 30306 ----- .

Select one:

a. 3d6030 6560cmo 3980l 306mbgdls

b. 3emdéogo gamgdheyemo bhgdol orgoligdgdl

C. 396930 gemggdheryemo dxbhgdol 0goligdgal o 8500 YEHm0gexddggdel 306mbgdl
d. gemgdph&nemo 3nbhgdel og0lgdgdl

Question 3

$333060@oo o0y 33@06)02 "0300@06)863@ bob(l)gaoHo @0335@3@0 6030@0 3350
Goéamodasabo 6330@%330@0@ onoqmoo hmewo o Lo30&0b3oém 603bals 33[)086000 5
06 m&o Lo3o&ob3oém 60dbols 335@)0 0d383° 680660@36) 6060@030@ obg, 63
bob(i)ganb bén@o 335@)0 NG 033@380."
Select one:

True

False

Question 4

38'3[)02)088(7) boabm@mgbo @O bOQO@SOBO 86)0)30680)[)

Al Choose...
F Answer 1| 00se
\ Choose...
N Answer 2| 0ose
Choose...
7 Answer 3| 0ose

.
? Answer 41 Sose-
Question 5

Lef LefLef Lol


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec E
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=q
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\varphi
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@00[}6)3@800 806306)0860: SQDSd@éUQ)o 390 8600303‘3@0@ aoamobobgbc 0

Select one:

a. 3mb(396¢ o Botgdoo
b. 3s&smmgemyéo Botrgdom
C. 39emal Botrgdoc

d. gemgdpheremo g9emob odsdymmmdol doembotgdoc

Question 6

ooLmge gobdothgds: gehmggotmgobo ggmo 560l olgmo ggemo, Gm3mol ymggemm
Bgéhocmdo coododyemmdol ----- .

Select one:
a. Lbgocolbgs Lococog oo Lbgoeolbgs da8otonemgdo
b. bb3oq>obb3o 808060)3@060 @0 860)60060 bo@o@g

C. 0d3l} 060)0 QO 06080 L\O@OQO @0 808060}3@860
d. bbsé@ébbSO l)OQ)OQ)S @O 06)(7)5006)0 80806)0}3@82}0

Question 7

agnboboaam 8@8{1063@0 33@0[) aoboboomgbg@ boabm@mabb bobg@&ﬂo@sbgbo:

7 Answer 1/ S0 [
N Answer 2| e -]
E Answer 3l 0oose- =]
¥ Answer 4] Choose-: -l
Question 8

333[)0603300 dm3gdnem 03080336 onoQaabb domo 36003'3@350:

{]Q’{]d(')énqm 3900l ododnmmmdd Answer 1‘ Choose... LI
300@)86300@000 bbsomba Answer 2‘ Choose... LI
SQ’{]d(')éUQ)O 8‘3[)(*)0 Answer 3‘ Choose... j
9e2gdh@yee docps Answer 4l Coose- 7]
Question 9

9 9dHeneo ggemel 3migboseo ool ----- [—
Select one:

a. SmQBQ)adbném
b. @3630063@0

C. 399theyeo
d. b 30@06’3@0


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=q
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=E
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\varphi
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Question 10

Select one:

a. g&mbooo 6od6ol 8gmby mEo nbholigsb

b. boeoceom dmemo @ gémboto 603bob 8gmby mEo Bbhobaeb
C. bocooo hmano > bbgoceslbgs 6086ob gmby o nbdeligs
d. Ubgocoabbgs boconcoob 3gmby eého xbholigsb

Question 11

4933060h0d 0y 3060 xbhgdl, GmBemgdoy gemggatmgabo ogemgghozol
8900030684 Bo63m0dbgdo 3memocndozool éml, 33ymo dbhgde gBmgds.

Select one:
True

False

Question 12
agnboboaam So/oooaosgmb :

e (BgBo Answer 1| Choose-: -]
JmgdBBmHIgEEMS Answer 2| 0% -
3600 Answer 3| Choose... -
Question 13

$333060(§00 o0y 3Bq>o(4>o: ” 3m6@86bo®méo 8600@360 Q08@8d¢6030m
80630@ 333363@0 ™60 603006)0[} Sémmqumbob.“

Select one:
True

False

Question 14

@860[) dOQ)O 8600@82)0 0\3080336) bOQO@Sb, 6)0088@08 6)08b0’)66)030@ OO’)Q)OO “““

393000 gwgdgémbob éom@gfimbob.
Select one:

a. godhool gobog3z9do

b. &mal gémgyemmdo godhoéal g0bog 3390030

C. B6gc080

d. 6690l 105630

Question 15
6)(‘088@0 QoaanU@o 6060@03860[’ 80806)00‘3@ 80066)0(*)60[) 606)80’)0@886[)

8@8{166'{]@0 Qgso @ommsgbao:
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Select one:

a. gemgdhembgdels

b. 36mphmbgdols

C. 1o6ymaz0000 0mbgdals
d. coegdomo ombgdels

Question 16
3333&60@00 Y 83@06)01 3@3{1060’)8080}(1603363@0 doemo 6)oBbm66)o30@ n@éob 0d

dndomdol, emdgemboy sLEYmgdgh gotg doemgde dg36mem 3mbiédo gémgyemmgobo
©o©gd0m0 bhob gooowgoemgdol mmb.
Select one:

True

False

Question 17
860‘16006 60360060 3@3:1063@0 dnbhgoels Sq)gd@émb(i)od)o 3'360 Uo’omog@mjag@gbob

doemo:
Select one:
a. f =0
b. F = oo
c. f‘:: <0
6. F=0
Question 18
©09m9d@hEr03de bhgdl dménl NGmogbcddgrogdol dems £-396 Izocgds.
Select one:
True

False

Question 19
30’)6)0[.) 86)00830(4)0')3060 8@8d®6)‘3@0 38@0[) do@ﬁoégbo

Select one:

a. PH0gEm3o6HmgmE0d o JoEmMdYmos gotgohgdelb Bgwodnol
b. 3600g6Hmdseomdymmos

C. 500396l 3obgom 3mobgl ggotroahgdol 3geoo3otrosb

d. 3s6ommgemnéod oczehgdol 3gedecols

Question 20


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F \succ 0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F= \infty
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F \prec 0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec F= 0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\varepsilon
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iaaaOé)OGOO CDU 88@06)0: 00'3 603860@0 88@0306)0[’ 30860(7) QOQSBOU)O QO UO&)S(V)(BOU)O
Inbhgdol HOmEgbmds 0r0bsdEr0d, 3530b Bomo demggotmo $9d0 g3oblbgoggdnemos

Su@oboaos E (i 7& 0 .

Select one:
True

False

Question 21
333[}06&3300 03080 336)0 boq:oq:gg?mb 803(\0[}00’)3@3@ 0300633@35[) @obob{]@gbgbo:

P = Treor Answer 1/ coose- -]
E'= —gradp  Answer 2| @ B
A= @’(501 - L;'OE)AI'\SWGr 3| Choose... LI
Question 22

g9 39emdo F' docmob dogés § nbhob yLobéyemme 3oy (ﬁ
300g0emgdodg dgbenmgdyemo 3ndomds godmolobgds ggmedymoen (3mbodbge 2
3olybo) :

Select one or more:

a. dA = F - dl - cos o

. F
b. dA = dl-cos o

_ _EBq
C. dA = dl-cos o

g dA=gq-FE-dl-cosc
_ dl-cosa
o A =S5 5

Question 23
08m®6m33@ @03@35@6033630 300@06030300[5 38{1600(4)0 (SrJl7 bob@gaoao) hmemoo (

X @03@3d©6033@0 ofioo:gobgquobo) :

Select one:

a. B = XeoE

b. E" = X%o D

c. j:_)' = X}—E

a. P = xE

Question 24 .
P Egh

Bm@oéogoaoob 38d(i)m(4>ob go3mbomgemgem 0300633@030

30300[)05'3@360 E?:l F;
6068000@635[) :

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \sum q_i\neq 0 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\varphi=\frac{q}{4\pi\varepsilon_0 r}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{E}=-grad\varphi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A=q(\varphi_1-\varphi_2)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{F}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=q
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{dl}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA=F \cdot dl \cdot  \cos {\alpha}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA=\frac{F}{dl \cdot \cos {\alpha}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA=\frac{E \cdot q}{dl \cdot \cos {\alpha}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA=q \cdot E \cdot dl \cdot  \cos {\alpha}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA=\frac{dl \cdot \cos {\alpha}}{E \cdot q}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=SI
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= \chi 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec P=\chi \varepsilon_o  E 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec P=\chi \varepsilon_o\vec E 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec P=\chi   E 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec P=\chi  \vec E 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{P}=\frac{\sum _{i=1}^{n}\vec{P}_{i}}{\Delta V}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\sum _{i=1}^{n}\vec{P}_{i} 
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3. o3mewyéo dmBgbhgdob ggdheenm 598 AV 8mpggemmdsdo
b. coo3coemy 8esdgbyl

C. 3ooemaoBopzools 3099030030960

d. Bogoroghgdols congemgddyoggem BcoBogsl

Question 25
3«)8333@ boabmwmgbb 333[}0603300 0003006000 @0[}053@35350:

C Answer 1] Creese- -
¥ Answer 2| Gese- £
E Answer 3| chocse- B
N Answer 4| Choose... |
Question 26

3060@3@360@ 33360‘)363@0 YY) 3m6@36bo¢m60b0806 33@8360@0 bob@gaob
8@8d06m633o@m60 6o3moco3q>gbo 0300(4)33@00):

Select one:

a. = (- C
— C1

b. = '

. C=C-Cs

d. C=C1+ 5

Question 27

333[}0803300 ({.;080336) bOQO@SSBb 800)0 80830’)80 ba@bbgsmsbﬂ.

60630 Answer 1‘ Choose... j
@gbob doewo Answer 2| Foose 7|
€bggo Answer 3‘ Choose..  ~|

Bobocomd>  Answer 4l ose- 7
Question 28
{]60033@000 (SI) bogémoaméobm bob@gaoao dob3ob 860’)83@0 560l

Select one:
a. gneombo
b. ™80

Co gEgw

d. 533960

Question 29
Bo 39(0c00 83@0306)0[} 3086000 3000003[5863@0 636@0@003060 anb(l)ob boqm@go

1.10° 3. gemgdheneme ggemol bo 300l boog goodotos M-396, oo


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\Delta V
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\varphi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\vec{E}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=N
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C=\sqrt {C_1 \cdot C_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C=\frac{C_1}{C_2}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C=C_1 \cdot C_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=C=C_1+C_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=SI
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\cdot

88@0306ob 3086000 80000003[)8[) 300093 ™o Snbd)o, 6)0088@000 boqm@aaboo
28.10'93 ©o -12.10'93. 806[)0%@36800 m - ob 8503368@0060 ©o 50636800
dmbo(3gdmo ggemdo (30g.1,234)

Answer:‘

Question 30

806[}08@36)800 86006306003060 8@&:1@)60’)[}0000336)0 33@0[} Qodobn@mbb,
oy 33@0[} doqﬁoégbob 80[563603 1) Ggéd)oqab dmbol 300(1)36300@030

bbgomaal boooge 0.08 3. Bgérhocmgdl dméolb dobdocmos 4 L3 (3obnbo
Bobgérgon g9emdo, dog. 1,234).

Answer:‘

Question 31

66638@0 3m5@85b06m60b 0306030(1)3&) dméols 80660@0
383a83060m 9-336, me)oo 3006@36[)0@0060[5
0304.4)%0@)060[5 0304.4:0)0)60 803306)@800 26-386, 6ol
30@080@08 3006@35[50@0060[} @330@0060 aoo%oé)q)o m-
306. 806bo3q>3€>0m m -ob 8603363@0060 Qo 5068(4)800
39emdo (30g.1.234).

Answer:‘

Question 32

06 hygemo 3mbogblodméael goéagotgdl dmernl 8sbdocmo
39380690 5-396, beremm 3mbogblohméals
goér30hgo0l gotrommdn gogdotogem 16-196, ol
990093993 3bgblohménl hggoomds gondotcos M-
§960. gobbodmgégor M -aob 360dgbgemmds oo Robgérgem
39emdo (dog.1.234).

Answer:‘

Question 33

P bggé0mo Bobommdal 3dmbg 30dhoéal bogérdy |
go08oéd 10-396, bmemm gobo339m0b ayoémmdn S


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\cdot
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\cdot
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\rho
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=l
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S

308306)@0 17-336). 608@36386 600306@0 603@060[}
Gosoq)oobo? (33@30 50636300 abm@mq) 6)08530 306:
1.234)

Answer:l



